425 (2) .wxm 1/

1) kill(all);
(%00) done

7 (%i1) depends( p,v],t);
el tp(1), (1)
L]
1 Eq. (26)
?(%i2) gamma: 1/sqrt (1-v*2/c"2);
(%02) 1
v
_02
7 (%13) ——
C (5 pP: gamma*m*v;
myv
(%03)
v
C2

E(%iS) 1/gammar2+vr2/c”2;
5

(%05) 1
L]
2 Eq. (28)
?(%i6) H: m*c*2*gamma-m*M*G/r"2;
2
(506) ccm _GMm
V2 f2
1- —
C2
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- 3 Eq. (60)

4 (%18) gamma_1l: (m(rl)-(rl_d""2+rl”2*phi_d~"2)/c*2)"(-1/2);
1

142+ ¢4 r1?
\/m(r1)— 2

7 (%19) E60: diff(1/gamma_1,rl);

d 2 042 r1
ari M-
(%09) , ,
r1 2+ @2 r1
2\/m(r1)— I
C2
L]
4 Eq. (61)
7 (%i10) E61: diff (gamma_1,rl);
d 2 042 rt
dri m(r1)— c2
(%010) - s
142+ ¢4 r1?
2 \m(r1)-
2
L]
5 Eq. (66)
from (57):
?(%ill) E57: gamma_l*diff(m(rl),rl) + m(rl)*diff(gamma_1,rl) = di
2 42 rt
d 4 _ P
ﬁ m(r1) m(r1) <d ri m(r1) 02 >
(%011) _ 2o _
(1) r1g?+eq? r1? r1g2+e4? r1?
m\rt)- 2 \m(r1)-
C2 ( ) 02
d 2 942 r1
ari M-
r1 2+ @42 r1?
24/ m(r1)- a
C2

K Re—-insert gamma_l
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7 (%112)

E57a: ratsubst (Gamma_1,

gamma_1l, E57);

(rie 2m(rm)-2 1y &) (2 m(r1))-27¢2 g2 r1 (1)

2 ¢?

d
an m(r1)> 2Ty @42 rt

2 ¢c?

E57b: solve (E57a, diff (m
212 pq2 rim(r1)+2 pq? r

(rl),rl));

r2c?m(rt)-c?

3

/

3



